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Question Number : 1 Question Id : 813561961 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

B W n .
If C, = Cﬁﬁthen Cz—

"Cy="1C; ©0D, "C; DD

7
Options:

, % 858

2, % 13

4. 78
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Question Number : 2 Question Id : 813561962 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
If the line y = 2x + k is normal to the parabola y? = 4x. then k =
y =2x + k 8, y? = 4x HorH00rS e9dwotde ©ond, k =

Options:
1% —10

a,v 12

Question Number : 3 Question Id : 813561963 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

Solve the differential equation given below

08 ©I50D DWSCETI) FBotsol

xdy
dx

= ¥+ /2" +y°

Options:

- x% = cly +y? + x?]

« V2= C[I +¥2 — _1'2]
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= C[_-'{' Tall_l(q{m)]

4, % 2 = i?[-‘f — i+ _1.-2]

Question Number : 4 Question Id : 813561964 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

mw/2

z 1
ax =
‘ 1 + tan?92%(x)

0
Options:

1 % T

L

m|::1

Question Number : 5 Question Id : 813561965 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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. . . . ; 1. 92 55
Equation of the plane passing through the intersection of the lines " = . = and

x+5 = TR o -
= yl e and parallel to the xy-plane 1s

-1 -2 2-5 +5 y=4 243
x1 :y2 — = 28030 x3 —2 :: NOY0DY DoEdDoRY) Aot A,

XV-3PA8 DATodGAT Gol SV e, D EBmAN

Options:

L. Z2=4
2 wZ=2
3253
4,8 Z=D

Question Number : 6 Question Id : 813561966 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

Given that a throw of three unbiased dice shows different faces. what 1s the probability
that their total 1s eight?

20r¢d TSR BN T8 0B N DDR) o3 SDBD B
DD, T AP A BHOL VoIS Jod?
Options:

1

1.« 10

23

, % 256
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13
3 & 36

37

Question Number : 7 Question Id : 813561967 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

The vertices of the hyperbola 7x? — 49y? = 343 having eccentricity * 4/3 s

7x% —49y% = 343 X0 ©AVTHVAD &) 0B ¢ 4/3 * AN, T IT

Options:

4 o (17,0)

Question Number : 8 Question Id : 813561968 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

- : : , m
If w 1s a complex cube root of unity. then sin {(_wm + 0w - I] -

D8go(1) amg), :ooég 2DO2TOAD w VAP, sin [(.:u“* + 0¥ - f} e Doeh?
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Question Number : 9 Question Id : 813561969 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

If 6 =Cot™%(7)+ Cot™1(8) + Cot™1(18). then cot 8 is equal to

8 = Cot™1(7) + Cot™1(8) + Cot™1(18) 200, cotf =

Options:

Question Number : 10 Question Id : 813561970 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Five different books are to be distributed among four students randomly. The probability that
each child get atleast one book 1s

5 DSV 4 Dm"5g>v$> HODTE). SAAD DA Dwﬁgé 28) 8], DRVSIN SB\er ol
FOVIAEY E:lae;"bﬁé
Options:
21
1. 8 64

15

, @ 64

31

3, 8 B
51

4, % 0%

Question Number : 11 Question Id : 813561971 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the equation 4x° + hxy + y® = 0 represent coincident lines, then * h * is equal to

4x? + hxy + y? = 0 28660 Toct DEBotd BV ArdD, * h * Dewd
Options:

. % 1
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Question Number : 12 Question Id : 813561972 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

e* logx

If v ey then _—
; X dx

e* logx d
y = = 0DARNE) — =

x2 dx

Options:

e*{1+(x+2)logx}
3

1. % x

e*{1—(x—2) log x}

2. % x®

e*{1—(x—2)logx}

3. % X

eX*{1+(x—2) log x}
3

4.9 X

Question Number : 13 Question Id : 813561973 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The standard deviation and mean of five observations are 0 and 9 respectively. If one of the
observations 1s changed such that the mean of the new set of five observations becomes 10.
then their standard deviation 1s

5 903300 D070 2e00% 9 80K FArds v 0. € o3V’ w6 TEA QAN

S0R YD 03800 ATB e 10 €00, ArSD Wo3a0w FArHs JUd dod?

Options:
1

1. %

Question Number : 14 Question Id : 813561974 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is true about f(x) = 3sinh(x) — 2cosh(x) , Vx €ER

f(x) = 3sinh(x) — 2 cosh(x) , Vx € R 29003. & $08 J°¢5° 8 daadw?

Options:
f 1s an odd function
1w [ 28 8 DD0aBw

f 1s a periodic function
5w [ 28 8365 DI0a8w

3. ¢
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f 1s a strictly increasing function on R
R>f as 3G 3835763 D03

f 1s a strictly decreasing function on R

RDf a8 s 2950 S DAL
4, ®

Question Number : 15 Question Id : 813561975 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If 2 15 the length of a side of a triangle with its opposite angle ‘ /3 *, then the circumradius
of the triangle 1s

QZHLRANG'D 8 Zowaw TEY 2, I8 AR Stas0 ‘ /3 " 90, &8 HZoRAW
gy, OB THrew =

Options:

Question Number : 16 Question Id : 813561976 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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If the equation ax® + 2hxy + by* + 2gx + 2fy + ¢ = 0 represents two straight lines

equidistant from the origin, then f* — g* =

ax? + 2hxy + by? + 2gx + 2fy + ¢ = 0 HE66:30 SroDotos) Aol PArd
BrGod” (10 Botkd Bdw Ar. f* - g* =

Options:
- bf2_ﬂ92
2. % ag*® —bf*

50 T,
5 ¢ CBf° —ag”)

4 » claf?—bg?)

Question Number : 17 Question Id : 813561977 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If P divides the line segment joming the points A and B 1n the ratio 2 : 1 and the position

vectors of Aand Bare i —2) and =31 +5 respectively. then the position vector of P is

A B Dothoipo 4 den S i —2] 208050 —31 +5].4,B v el dar
00080 P Dok 2+ 1 Ainy36° Daszody, P aiogy, 3 06
Options:
51—8]
3

—51+48]

2.
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51+48)
: 3
3, %
-5i-8j
4. % 3
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Question Number : 18 Question Id : 813561978 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If @ and b are two unit vectors and 6 is the angle between them, then the unit vector along

the angular bisector of @ and b is given by

T 2008050 b e Bocd aRrdE DA% 208050 f T8 206 'm0 0D, 7 ok

b © E DB(DOE P VATBANT ot CLrE V6

Options:
a+b
2sin(6/2)

1. ®

b —_—
a+b

> 2 cos(8/2)

—_—

a—b

3 % 2 cos(6/2)

a+b
« cos(6/2)
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Question Number : 19 Question Id : 813561979 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A pomt P(—3,-2) 1s such that the sum of squares of its distances from the co-ordinate axes 1s
equal to the square of its distance from the line x — y = 1. Then the equation of the locus of P 1s

AEFIEFY Aot P(—3,-2) Dok Avg), ErTre S6:200 g, 68 P Dodd) Aok
X =y =10¢ 005 o drdan cﬁnsb .‘.)g“:}é TR0, P Dot EBRAY =
Options:

. % x24+y2—2xy—2x—-2v—-1=0

u T VEZY+ 22V F =0

2
L. 3 T -
5 P Fy<42xy Fix—-2y-=1=10
X s e o ey =
4 % 2 + ) 2xy +2x =2y +1=0

Question Number : 20 Question Id : 813561980 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the normal to the curve y = sin x at the point (0, 0) 1s

y = sinx 5708 (0,0) Do) 36 DVoLIBH VLEBEBN

Options:
y, 8 B=D
2. % ¥=1
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3 Xty =0

x X—y=0

Question Number : 21 Question Id : 813561981 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
£3
Displacement ‘s’ of a particle. m meters. at any time ‘t” seconds 13 expressed as s = E —bt.

Find the acceleration at a time when the velocity vanishes.

tg
't R0 DAODAW I W SrAw AWE) g‘égném ‘s (DwST), § = 5 6t &

AP, &8 Sea0 DA APIRINYE T S(GHA0 dod?

Options:

. u BrEs

> & 2V6 m.s 2

_ 12 m.s -
3. %

= -2
4 % 6V6 m.s

Question Number : 22 Question Id : 813561982 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The length of the tangent drawn from the mid-point of the line joining the origin and the

point (4,—4). to the circle 2x* + 2y? —y = 01is units

S0t 280K (4, —4) Do €0 Fararodad) (Do ol 21 +
2y2 -y = 0 358t 26,80 TEY SAVNIV

Options:
1. 8 3\*’?

—

+ 2

3, % V10

4.9 3

Question Number : 23 Question Id : 813561983 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The number of the values of ‘k” for which the limes 2x + y =1, 3x+ 2y =2, kx+ 3y =3
are concurrent 1s

204y =1, 3x+2y =2, kx+3y = 3 Spe0 o0z i@ e o k'
DIV R0

Options:

1.*"50

Infinite
7 VDoBOW
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Question Number : 24 Question Id : 813561984 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For equality of functions f and g

(1) domain of f = domain of g
1) f(x)=g(x)

(111) x € domain of f

f 08030 g DAV DATIT(IS

(i) f pB%30 = g HB%A0
(ii) f(x) = g(x)
(iil) x SreEan f HBEFA0S DS

Options:
only (1) and (i1) are necessary
| % (1) 0803 (11) SIS Bbé&gaﬁx)

only (11) and (111) are necessary
) % (11) S0B03 (i11) &g €553(S

only (1) and (111) are necessary
- (1) 0803 (111) &IPS RBOF[SIW

All (1). (11) and (111) are necessary
5 o - (). (iii) &) es5858a0

AP EAMCET 2020

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AP EAMCET 2020

Question Number : 25 Question Id : 813561985 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

[(1 + e"")_l 0y =
Options:

, x log(l+e™) +c

5 o log(1+e*)+c

3 % log(1—e*)+c

4 x log(e®—1)+c

Question Number : 26 Question Id : 813561986 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

How many multiples of 5 are there from 10 to 95 mcluding both 10 and 957

10 08080 95 o GsbeS’Dé SR0Lobr, T8 2063 5 a308), S0 anl &) o?

Options:
1.% 17

2. v 18

3 % 16

% 19
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Question Number : 27 Question Id : 813561987 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The radius of a circle 1s increasing at a rate of 0.1 cm.s™*. Then the rate of change of area.
when 1ts radius 1s 5 cm. 13

0.1cm.s™ Sy 28 9 TG0 DS 08, TG 5 cm oI, & H8
DTV 07 oo

Options:

| w ®iTme.§

5 o B BSE™

3 & 2m cm?.s71

s o
— em?.s71

4. %

Question Number : 28 Question Id : 813561988 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If tanlx/2) = r—T . then the value of msin(x) + ncos(x) 1s equal to

tan(x/2) = % 900, m sin(x) + n cos(x) DeNd doeh?

Options:

1 % m
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4. "

Question Number : 29 Question Id : 813561989 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the angle between the planes x + 2y +2z—-5=0and 3x+3y+2z-8=0.

x+2y+2z-5=0:3800 3x+3y+22-8=0 dere Sd) S

Options:

3
Cos™? (?)
1. % Nt

_1( 13 )
Cos —
> 3v/22

1
Cos™ 1 ( .—)
3422

Cos™ ! (E)
31

.

4, %

Question Number : 30 Question Id : 813561990 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Let f:N X N — N be a function such thatf((l,l)) = 2 and f((m + 1, n)) = f((m,n)) +
2(m+n)and f((_m, n+ l)) = f((m, n)) +2(m+n-1), Ym,n € N. then find £(2,2)

f:N XN = N 00ha0d% f((1,1)) = 2 o8ao. f((m +1,n)) = f((m,n)) + 2(m +
n) &dodo f((m,n+1)) = f((mn)) +2(m+n-1) , Ymn €N o f 2ardodd.
f(2,2) D0 dodd?

Options:
1.% 8

2. % 7

4'\_?/,,10

Question Number : 31 Question Id : 813561991 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If*2i "isaroot of f(z) = z* + z° + 2z% + 4z — 8 = 0. then which among the following
cannot be arootof f(z) =07

f(z) =2* +2° + 22° + 42 - B DY\ f(2) = 0 & “2i ™ w8 APwAD WO, §ob
TS f(z) = 0 Srodn ©IE6?
Options:

. =2
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Question Number : 32 Question Id : 813561992 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the number of ways of arranging 6 red balls and 6 black balls in a row such that no two
black balls are together.

@ Both) 3V Lodued 18) ) & SO Goteor, 6 Y Lodoen HBAN 6 ¥ LBV

28 @céo.‘}dfoeﬁ‘ ChVeNG DT R0

Options:

;. u Gaehl

, % 7! X 6!

7 !
3_ﬁ2x6.><6.

4__\_/.7><6I><6!

Question Number : 33 Question Id : 813561993 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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(ptq+r)

In APQR. find 2.(q + r) cos P. if p, q,r denote its sides and s =

(p+q+tr)

APQR 820228 p, ¢, 0 202800 JE0 APV 8050 s = 900N,
Y(qg+71)cosP =

Options:

3 & 28

4. % 4S

Question Number : 34 Question Id : 813561994 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If @. B are the roots of x* + px + q = 0. then the values of &* + f° and a* + a?p* + p*
are respectively &

a,f 00 X2+ px + ¢ = 0 S e 8o, Shdm o + 3 8ok ot + a?f? +

B* © dewdew &

Options:

L x Gpa—pY) & (' -3p%¢+3¢%)

, x PBa-p) & (@*-a)(p*+3q)

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

(pg—4) & (@*—q%

. v Bpa—p7) & (*—q)(p®—3q)

Question Number : 35 Question Id : 813561995 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

x y - o
It = _ = then the value of (x + v + z) 15 equal to
cosa cus(% - a') ::.'1::-5(?:fT + a:) ( ‘ : .
b Z
= = wond. (1 + 7 +2) Dewd dod?
cosa cos(né- e {1’) COS(T-J- {I)
Options:
1
1. % 2
2. v 0
3. % 1
4. % 2

Question Number : 36 Question Id : 813561996 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The number of solutions for the equation x? —5]x| + 6 =0 1s

x? = 5x| + 6 = 0 DASGEBO VY, FBIO Voa
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Options:

1.v 4

Question Number : 37 Question Id : 813561997 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
m/2

’ (2 sin|x| + cos|x]|) dx =
—1/2

Options:

Question Number : 38 Question Id : 813561998 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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21

f x cos(x)
— dx =
1+ cos(x)

0

Options:

Question Number : 39 Question Id : 813561999 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

xZ_ 2

x2+y?

, dy .
If Cos™t ( ) = Sin"(a) thend—i is equal to

g 2
-1 X "y 4 - —1 3 o, d}’ —
Cos ( yz) = Sin~ "(a) 00, )N =

Options:
A Yix

2 % _}r/x
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Question Number : 40 Question Id : 8135611000 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the circles x% + y* —2x =2y =7 =0and x? + y* + 4x + 2y + k = 0 cut orthogonally.
then the length of their common chord 1s units

1f 4yt =20 =2y =7 =0 D800 x% + % +4x + 2y + k = 0 Hzre0 wotdyGdam
SR8 otnd) ond, T8 &) ¢ ) TEQ A ArdL?

Options:

Question Number : 41 Question Id : 8135611001 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The number of possible straight lines passing through the point (2, 3), while forming a
triangle with coordinate axes enclosing an area 12 sq. units 1s

(2,3) Dot ot Fdr B0k AEFHSTVE 12 SE6Y 0rdY PFoo (0

320\ Ddhdn‘.ﬁ (i) VOBV R0y
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Options:

1. % 1

Question Number : 42 Question Id : 8135611002 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If @,f,y are the roots of the equation x* + 3x® — 6x% + 2x — 4 = 0. then find the equation

_ = 1 3
having roots =, = , =
«a py

t 1 9
@, B,y o x* +3x% — 627 + 2x — 4 = 0 0DECHAN A, SarOSLVNS -
0R) SAPVSVRMT (0 VeICETD) S48) ol
Options:

T & 4x* —2x3 +6x* —-3x—1=0

, % ax*+2x° —6x°+3x+1=0

4x* —2x3 +6x2—-3x+1=0

3. ™

4x* —2x3 +6x2+3x—1=0

4, ®
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Question Number : 43 Question Id : 8135611003 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the letters of the word “ASSASSINATION" are arranged at random 1n a row, then the
probability that no two A’s come together 1s equal to

‘ASSASSINATION' H63308° tﬂio"vfﬁ:)loﬁb aﬁm&q)sm 28 JHHS 0089, N
G0t A 00 5D G 2003 Roerd(d dod?
Options:

25

26

15

3, W0

17
4, % 26

Question Number : 44 Question Id : 8135611004 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: L . b
InaAABC, if a,b,c are its sides and £C = 60°, find the value of i
b+c cta
b
ABC $ga3008° a,b, ¢ o0 Zhud00 Tedr 080k £C = 60° ©and b‘; t—=
Options:
1.v 1
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Question Number : 45 Question Id : 8135611005 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the plane mid-parallel to the planes 2x —3y + 6z + 21 = 0 and
2x — 3y + 6z — 14 = 015 given by

2X — 3y 4 62 + 21 = 0 208050 2x — 3y + 62 — 14 = 0 $erOL DATBSIT
Goti, BRI ol B30 HNEGEID

Options:

1 % Ix+6y—12z+7=0

> % dx—6y—12z—-7=0

3'J4.1'—6_1'+122+7=0

s 4x+6y+12z—-7=0

Question Number : 46 Question Id : 8135611006 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
AP EAMCET 2020
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Orientation : Vertical

1
f(l + x)log(1l + x) dx =
0

Options:

=y e
TheS

1%

3
—+21
. i 4-|—2 og 2

3 x 2log2

—3
—+2log?2
4.v 4

Question Number : 47 Question Id : 8135611007 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The acute angle between the lines x —y=0.and y =01s

x—y =0 208050 y =0 30 306 o 0208 dw

Options:
T
1. % 6

T
2.0 4
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Question Number : 48 Question Id : 8135611008 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the circle x? + y% — 9 = 0. find the equation of the chord having (1, 2) as its mid-point,

2+ y2 - 9= 0 35708 (1,2) S6{DodT o 27 DebEom0

Options:

g X+2y+5=0
5 % x—3y—5=0
3 x X—3y+5=0

Question Number : 49 Question Id : 8135611009 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The point of intersection of lines denoted by 3x* — 11xy + 10y* = 7x + 13y + 4 =01s

3x% — 11xy 4 10y% = 7x + 13y + 4 = 0 2rQotd 800 otid Do)

AP EAMCET 2020 -
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: »KBFLY
2, % (1:3)

3, % (0,0)

a8 T8 1)

AP EAMCET 2020

Question Number : 50 Question Id : 8135611010 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

i

Ifa,b,c are coterminous edges of a parallelepiped such that

n| o] /Y
2| 8| 9]
o] o] ]
| o] o

then find the volume of the parallelepiped

—

@,b,C w8 RAreds DU BN DIPTANE 020 805N

ik M |
2 ! |
o] o /)
| & o

Options:
1, % 32

2. % 16

%

4.« 8

a| o _|
S| 8] 0

= 16 900N, &5 VAToBTDLE D 030052J WD AT

AP EAMCET 2020

o] 8 Al

=16

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



AP EAMCET 2020

Question Number : 51 Question Id : 8135611011 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
x2 .FZ
The number of values of ‘c” for which the line y = 4x + ¢ touches the ellipse T + T =115

2 2

X y . - §h .
= 1 <= 1 59;,3913:1 y =4x +c 8 Dy Bothitds ‘¢’ 8 ffo DLVSL) o)

Options:
1, % 0

Infinite
4 % ©Oodo

Question Number : 52 Question Id : 8135611012 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The area of the quadrilateral formed by the tangents from the point (4,5) to the circle x? +

y2 —4x — 2y — 11 = 0. with a pair of radii joining the points of contact of these tangents is

(4,5) Docsoipiood x2 +y2 — 4x — 2y — 11 = 0 3@ AN 6 Bawd dr, T8
261DV Sodnd Aod A avlg&gué‘w D0\ BENR DTV =

Options:
1.% 4
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Question Number : 53 Question Id : 8135611013 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate variance if Y, x;2 = 18000 and ), x; = 960, for 60 observations

60 ®oz%, Y x;° = 18000 2080k Y x; = 960 00d, T8 DS =

Options:
1. o
), ® 22

3. % 32

4 % 6.63

Question Number : 54 Question Id : 8135611014 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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IfA=

L .

A =

1
|
1

Options:

=3

ks

&

3.

v L

£ L

#® L

® L

64
29
11

63
29
10

64
28
11

61
29
11

— D

39
16
2

39
16

39
15

39
16

3
1].
1

|F-.'I."-'-|I i:Mlk.:il

28]

11

20
11

-

27
11

28]
11

i —

O =

R

'..P- e El

l’hmcl

W N
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WS N

o - O

Mo = O

1HGH.

:
0
1-

then ((((ABC)™H))™H)T =

wod ((((ABC)™)")™)" =

Question Number : 55 Question Id : 8135611015 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The points (5,—4,5). (—3,-3,2) and (-1, -6, 8) form

(5,4,5), (=3,-3,2) 208080 (~1,—6,8) Dotk D6y& Gaoniw 2,8

Options:
AP EAMCET 2020
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an 1sosceles triangle
ROBETN B2

an equilateral triangle
 ASETPITN) BZD20

a right-angled 1sosceles triangle
oS RDVBETIN GZDRAW

a right-angled triangle
. ©o2)5 SZDRAD

Question Number : 56 Question Id : 8135611016 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two lines whose direction cosines are given by al + bm+cn=0and fmn + gnl +
him = 0 are perpendicular to each other if

S0t NEVoL &S QQQJ al+bm+cn =0 08080 fmn+ gnl+ him =0 0
ArLoRA), €8 Toth) PEVEDLD TS EE) Lot GokrrS oA

Options:
h
Lig,2_o
1« @ b c
h
r g 8 .
% @ b
h
L-{-i——:{}
3 % a b C
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Question Number : 57 Question Id : 8135611017 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If @, B are the roots of the equation x* —2x +4 =0, thena™ + " = X COS (’;_”)

foranyn €N

a,f o0 xt—2x+4=0%reren vowd, nENDa + " = xcos(r;—n)

Options:
2?1

1. %

” 2ﬂ+1
2.

3 % 2“-1

B2
4, % 2

Question Number : 58 Question Id : 8135611018 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Assuming x to be so small that x? and higher powers of x can be neglected. the coefficient of

1/3 2
. A=) -5
X 1n i is equal to
(16—x)
1/3 2
1-x)  +(1-5x
% e x e G230 X DL D(VYB, L (1 7 ) PO

(16—x)
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Options:
989
1.% 96

989
, % 192

=
3. 96

_ 989

Question Number : 59 Question Id : 8135611019 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1

lx|va2-1

) the domain and range of f(x) n R are

For f(x) = sin (

f(x) = sin (lxl \,%
Options:

R —{0,+1} and [—1,1]. respectively
g5030m R — {0, +1} 208asw [—1,1]

) oA, R & f(x) D0ahadn awg), HE3hw odokw T

1. %

R — [—1,1] and [—1,1]. respectively

, o 030 R —[—1,1] Sv8an [-1,1]

R — {0, +1} and [0,1]. respectively
 g20a0m R — (0,41} 0805w [0,1]

& S
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R — [—1,1] and [0,1]. respectively

4% g R — [—1,1] Svdosw [0,1]

Question Number : 60 Question Id : 8135611020 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
COS X X 1

If f(x)=|2sinx x? 2x|then the value of f'(x) at x = 0 is equal to
tan x X 1

COS X X 1
f(x) =|2sinx x% 2x| o, x=0 S8 f "(x) Ded
tanx x 1

Options:

1, % —1

Question Number : 61 Question Id : 8135611021 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The equation of the tangent to the ellipse x? + 16y* = 16 which makes an angle 60° with
the x-axis 1

r-08308 60° §nn 0 % +16y° = 16 BYEIS v 01650 DHECR
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Options:

7 o V3x—y+7=0
5> % V3x—y—7=0
3 % \,§’{ +y—7=0
4 % V3x—y =0

Question Number : 62 Question Id : 8135611022 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Jq (x,.-"'l + sin(_Z_r)) gy =

Options:
. cos(x) + sin(x) + ¢
5 % cos(x) —sin(x) + ¢

3 @ sin(x) — cos(x) + ¢

4 = sin(x) — cosec(x) + ¢

Question Number : 63 Question Id : 8135611023 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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—

If @,b and ¢ are three vectors suchthata X b =¢ ,b X¢ =a anda,b,c are mutually

perpendicular to each other. then |b I 1s equal to

T,b, T RO T XD =T, b XT =7 0 Ardar, 20080 a,b,T w 28IEEH
QORI G0t wand, [b | =
Options:

—1 only

| x —1arg

0 only
2 % 0 .111"@33

1 only

L o 1 3rgd

4. % T1

Question Number : 64 Question Id : 8135611024 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 1t 1s mentioned that for a curve passing through (3, 4). the slope of the curve at any point 15
the reciprocal of twice the ordinate of that point, then that curve 1s a

(3,4) Dot ot J'AD w8 S0 B Dotk 36 T, & Dothdxy) ), -

REPISN oaos), 39&0‘12) aas), D BANNL) VATDA00D, € S$A0 w8

Options:
Ellipse

| x 82330
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Parabola
5 PT"DVOAD

Hyperbola

3 % ODDTBOADID

Circle

4 % D)0

AP EAMCET 2020

Question Number : 65 Question Id : 8135611025 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1
If sind4d+sinB = ? and cosA +cosB =1 .then sin(

1 .
sind +sinB = ? 0003 cos A + cos B = 1 ®00Q, sin (%) VS

Options:

:

=[5
W

1.%

=+
NE

2.¥

[
~ |G

'+
* |3

4, %

AP EAMCET 2020
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Question Number : 66 Question Id : 8135611026 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
10
15

* 10 .
: 2+n/§) (2—:\@)
The modulus of the complex number (2—:'. 75 + Ve

o L
2415 2—iV5 " ; "
(z—i«"ﬁ) + (2+i\/§) 086 Doy CIVE), 0o

Options:

i o 2 cos (20 Cos™ ! G))

2 sin (10 Cos™ G))

2. %

5 2 sin (20 Cos™ ! G))

Question Number : 67 Question Id : 8135611027 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the lines joining the origin to the points of intersection of y =mx + land x* +y* =1
are perpendicular, then

y=mx+18 1 +y? =158J) ociod Botid DocrPHod Mredetds) ST
D0 B0 VoLl EoGerdS AADKA

Options:

m = —1 only
m = —1 S,

1. %
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m = 1 only
, % M= 1 Sorghadd
3¢ M= 5 35
48 m=0

Question Number : 68 Question Id : 8135611028 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

COSX —SInx
J - dx =
5 + sin(2x)

Options:

1 B e
— Cot * [—2 (sinx + cos 1‘)] +
1. %

; Tan™1 E (sinx + cos,t)] +c

2.

~ Sin~? [i (sin x + cos :{')] +c
3. % 2 "

—iCon1 F— (sinx + cos;\'")] + c
42 2

Question Number : 69 Question Id : 8135611029 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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If the sum of all the coefficients of (ax? — 2x + 1)2019 1s equal to the sum of all the

" L 2019
coefficients of (x — ay)”™  thena =

2019 2019

(ax? —2x + 1) Deodenss” homasdonew awdaw (x —ay)’ Ddns Mmnsane

VBADDL DATAANN. @ D=

Options:
= |

1. %
2. %
3. ¢

4, ®

Question Number : 70 Question Id : 8135611030 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

[eglogx (x*+ 1) " dx =

Options:

eElogx+C
1. %

1
5 Tlog(x‘* +1)+c

1 :
z log(x*+ 1) + ¢

3. %
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x*+1

Question Number : 71 Question Id : 8135611031 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A Square is inscribed in the circle x% + v — 2x + 4y — 93 = 0 with its sides parallel to the
co-ordinate axes. Then which among the following can be one of the vertices of the square?
24 y% =20+ 4y — 93 = 0 5Ba0¢" 28 SE06TR). T ZHere) IEFIFTVL

RGO G0l 9oBBPONIYE. S8 TG O Doty &8 WAVETAS w8 %g.:m?

Options:
(5,8)

1. %
;. v (HLE

4 % (-8,5)

Question Number : 72 Question Id : 8135611032 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s an approximate value of v 199 corrected to 4 decimal places?

G200 V199 ding); dend, 4 $F 03 .?.:J‘o SO

Options:
| % 14.1608
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> % 14.0168
3 % 14.1086

4 o 14.1068

Question Number : 73 Question Id : 8135611033 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The cartesian equation of a line1s 2x — 3 = 3y 4+ 1 = 5 — 6x. The vector equation of the
line passing through the point (7, -5, 0) and parallel to the given line is

28 HOY B SEHODLD HLEHAW 21 — 3 =3y + 1 =5 - 61 wand, (7,-5,0) Dot
ot Fdr, 3% VITISGMT God 39 M), BT VLCHO

Options:
T =(051-77)+A(37T+2j — k)

e ™

. r=(71i+5j)+4(371 —2j + %)

. » 7 =(71 =8 ) +2(37 +2j —#)

L w7 =(81+7])+A(-371 2] - k)

Question Number : 74 Question Id : 8135611034 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The length of the latus rectum of a parabola whose focal chord PSQ 1s such that PS = 3
and QS =215

28 HTSVAIrAS PS = 3 Hdaiw QS = 2 Oaber PSQ w8 T8 & GoGd), &8 DT°H0DH
T8 Lokl JTED) dod?

Options:
24
1.¢ S

12
5

2. %

Question Number : 75 Question Id : 8135611035 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the roots of the equation x* — 6x% 4 11x — 6 = 0 are e. § and y. Then the equation
whose roots are %, f%, y* among the following. is

a. f 8ok y o 1 —6x% + 11x — 6 = 0 £ Sarerew o, §ob TS o, f?,

y2 03 Aarerenr e HAEGERAD
Options:

‘ x2 4+ 14x2+49x—-36=0
2.V
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x3 —14x24+49x—-36=0

2 % x3 —14x* —49x +36 =0

g% X0 —14x% —49x —36 =0

Question Number : 76 Question Id : 8135611036 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the equation of a circle with radius 5 units and touching the circle x? + y? — 2x —
4y — 20 = 0 at the pomt (5,5).

b =g , . . v v
x4y = 20— 4y —20 =0 3gd) (5,5) Dot 56 D3R, 5 0w ;:"5&2::
(0 S5y PDEGt0

Options:

L ¢ X2 +y?—18x—16y +120=0

, x X +y*+18x+ 16y —120=0

5 % x*+y*—18x + 16y —120=0

4 % X2+ y*+18x+16y +120=10

Question Number : 77 Question Id : 8135611037 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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1

X2+

The range of the function f(x) = x* + : is

f(x)= x2+ D2003E W) T°( BDoC.

o 3 |
Options:

Question Number : 78 Question Id : 8135611038 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

9
. [2p . 3q\", L :
If the 6™ term in (?p 3 ?q) is “ ap®q® . then a, b and c respectively are

9
2 3
(?P T ?‘{) DRBRS" 65 DB ap®q” ” o, a, b, ¢ L SGWT

Options:
1 % 189, 5, 4

, » 189, 4,5
s %212, 4,5

in 212 8, 4
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Question Number : 79 Question Id : 8135611039 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A pomt on the curve x = 3cos6, y = 2sin 6 at which the tangent 1s perpendicular to x-axis 13

x=3cosf, y =2sinf 3508 D Dot ¢ Avd 16150 1-OFS Voo GotdR?

Options:

s 3 L0

3% (0,-3)

2, (=3,3)

Question Number : 80 Question Id : 8135611040 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the line through the point (-1, 3) in symmetrical form. when the angle made

by the line with the positive direction of x-axis 1s 120°, 13 given by

X 052 6% 838 120° Eerdy B, (—1,3) Dockod ot Vb 1696 S0
TS Erdane” Frododn?

Options:

D) _ -3

@ YR V3/2
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(x+1) (y+3)

eile—ps )

, % 1/2 V3/2

(x+1)  (y+3)
« —1/2 /32

3

(x+1)  (y-3) _
4 % 1/2 V3/2
SectionId:

Section Number :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :
Display Number Panel :
Group All Questions :

Mark As Answered Required? :

Physics
81356120
2
Mandatory
40
40
40
Yes
Yes

Yes

Question Number : 81 Question Id : 8135611041 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A string of a pendulum of length [ 1s displaced through 90° from its vertical and released.
Then the minimum strength of the string needed to withstand the tension as, the pendulum
passes through 1ts mean position 1s

| TED) o 28 S'vo A T e gm 2006 90° Eaod gvagu:ao Sotot) ©8) &
ot BT, & S'vgo AreE gwai BRI, BB BDIEL & O

o308, 5:)‘!".61 QAN Jod GokdTN?

Options:

1. % Mg
> & 3mg

3 % 5mg

4 % 6 mg

Question Number : 82 Question Id : 8135611042 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Pressure of a gas of constant volume at 20 °C 1s 90 cm of Hg. At what temperature the
pressure would change to 75 cm of Hg.

RO RBATRo, 20 °C 3G &R) TAY ¢d0 90 cm © Hg. O 6Tdaa¢ o
2¢S0 75 cm © Hg 03)d006?

Options:
1. % 233.2°C

2 « —28.8°C
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3. 8 —24.2°C

4 % 28.8°C

Question Number : 83 Question Id : 8135611043 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The binding energy of a nucleus is equivalent to

2,8 BoSo ARG, ot ¥ HIS DAT=do

Options:
The mass of nucleus

" SodS BO(T°3S

The mass of proton

. FTerS 35038

The mass of neutron
o NP Qéﬁ&%é
3. %

The mass defect of nucleus

- Sogo ABE), BS[0°3 &'Dos

Question Number : 84 Question Id : 8135611044 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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In given figure, an ammeter reads 5 A and voltmeter reads 40 V. The actual value of resistance R 1s

a0 Diods” 132 060 5 4, SEoh 40 V 00 Ao o, wawd G R 608

ABOVN DN dod?
R
(4 }——
/ )
(v)
L
Options:
1. 8 8Q

Greater than 8 Q
5 8 () & Soé) 0353655

Less than 8 Q
8 Q) o S0 e:)sal,.':)
3. %

4 % 2000

Question Number : 85 Question Id : 8135611045 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a series LCR circuit

LCR 33 dooanes’

Options:
The voltage leads the current 1f X; < X,

% XL < Xc 0008 SPE DS S0 B0 eotoi.
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The voltage leads the current if X; > X,

, o Xu > X oond STE DS Sot5 200 S0

The voltage and current are in phase

L DDE 20800 DEAS 2,8 3" Sotron

The current leads the voltage if X; > X
4 % Xp > X¢ 0008 Deod STE S0t 5006 GotdR.

Question Number : 86 Question Id : 8135611046 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A metal surface 15 1lluminated by a light of given intensity and frequency to cause photoemission.
If the mtensity of illumimation 1s reduced to one—fourth of its original value, then the maximum
kinetic energy of the emutted photoelectrons would become

5°0d &0 &0 LAY 5‘@;3&50, 390 $DAD 5708 28 &' BV VT IBATA. DA
awos), B0 89 eI 49 Hodu) DA, eg'*ﬁo:ﬁuda Je° VT (163 Bu8S
Options:

Unchanged
1.« QTGO

Half of the original value
5 % O ODendeS” drfo

Twice of the original value
5 ¥ S ODeHL B
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Four times of the original value
S 9DeHL TR B

Question Number : 87 Question Id : 8135611047 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The Lenz’s law gives

ToBR Q0D 'atﬁ.)l)b&

Options:
The direction of induced current

Jelels) 2)::‘:35@ DI OF
R

the quantity of charge flowing

5 g DDeTol DANS e3DF DBITEIDN

the magnitude of the induced emf
3 % D0 b@sw‘)vs QO DOATLHL

motional emf in the circuit

 H0oN&AS” B DEEHOS LIVDD
4. %

Question Number : 88 Question Id : 8135611048 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The external diameter of 5 m long hollow tube 1s 0.1 m and thickness of its wall 1s 0.005 m.
If p=17x1078 Qm, its resistance will be

5m o T o w8 &'en o erR((0 0.1m S08asw & fice Svoto 0.005 m
p=17X10"8Qm a0 & Ao dod?

Options:
1 & STK W0

5, % 2.7%X107°Q
3 % 2%X107°Q

4 % 5%x107°Q

Question Number : 89 Question Id : 8135611049 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two cars A and B are going around concentric circular paths of radi1 R, and Ry. If the two cars
complete the circular paths in the same time then the ratio of angular speeds of A and B 1s:

A 208050 B 93 B0t Terren R, 8050 Ry a;&gw i 8088\ 35750 AGod’
AEMBIT) AN, & Botdd TIPTW 18 VDS’ JTs0 ST P8 B, A SoBoko

B o aing), Srioth dde MG dod ?

Options:
1. 1%

2_3@RA:RB

3, x R iR
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4% 12

Question Number : 90 Question Id : 8135611050 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If the dipole moment of a short bar magnet is 1.25 A — m?, find the magnetic field on its
axis at a distance of 0.5 m from the center of the magnet.

28 T8 A 080 AI0E) BLBIT LW 1.25 4 —m? ©owd, o Bgo N,

26 Docdi) oW 0.5m GrEANYG” GO 08 £ OB BVDeC.?

Options:

; % 1.0x107* N.A™ .m™

, %« 40x 107 N.A .m™
3 @ 20910 N4 tm™

4 % 6.64x107° N.A™Lm™

Question Number : 91 Question Id : 8135611051 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A steel ball of radius 2 cm 1s at rest on a frictionless surface. Another steel ball of radius
4 em moving with velocity of 81 em. s~ collides elastically with the ball which is at rest.
After collision the ball with radius of 2 cm moves with speed of

2 cm T{RrEA0 (0 28 GL) 008 060 G SVAND I WAV B. 4 cm TG
@ o e @

i 35S 6, 00d 81 cm.s ™! Jidd’ Hairedir Jor30od ) 2066 wodS HOFD

DTS BODIB. GERD) SOTS 2 cm TGN 0 110d Sicdod SR0E) o0

Options:

1 144 cm.s L

> % 72 cm.s™?

3 % 216 cm.s™ !

4 % 36 cm.s™?

Question Number : 92 Question Id : 8135611052 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An electrical refrigerator with f = 5 extracts 5000 J from the contents of the refrigerator.
During this process, find the electrical energy utilized by its motor.

B =5 o w8 Buded (62 38Dson abogan). 8" 63) SwPHw ol 50007 &I
(800008, o8 &8 PIAVY’ A ArEPdd DIATAEE ) 3§ dod?

Options:
: o BB

, % 05 kJ
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Question Number : 93 Question Id : 8135611053 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a body is heated. then maximum rise will be in its

208 DDA DEBDD, TS (300 Felalaln

Options:
Length

L« TeD

Surface area
- &DB%Y DT Vo
L o

Volume

3 RV T°C30
Density

il .3"0@@

Question Number : 94 Question Id : 8135611054 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Potential difference between the points P and Q in the circuit shown is

DOANES” BrDDd JES Hw0DIANES” P H080n Q D¢ TBJoDS S&

’ i=1L5A

§3§1
\ Re=12Q)

Q

anﬁg

Options:

, % 1.2V
3 % 24V

4 v 288V

Question Number : 95 Question Id : 8135611055 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A travelling microscope 1s focused on an ink dot marked on a piece of paper. When a glass
slab (¢ = 1.5) of thickness 0.12 m is placed on the ink dot. The travelling microscope has to
be moved i order fo restore the focus

28 BN Arg) (58, SRS 508D DD V" 20518 So@SBousedi Ak BF. HT"ADy
D 0,12 m Socsnorie e ) Gotr. Aoty 6er S0Shod HaberdS Bod

A 8).58,99 D DesiSoorr aicodoR0? [rrer 58558 Aorsan u = 15]

Options:
0.04 m downwards
1 % 0.04 m So&S

0.04 m upwards
,  0.04m D3

0.06 m downwards

.« 0.06m 8008

0.06 m upwards
4 % 0.06m ocss

Question Number : 96 Question Id : 8135611056 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Consider the situation shown in the figure, The wire AB 1s sliding on the fixed rails with
a constant velocity. If the wire AB is replaced by semicircular wire, the magnitude of the
induced current will

D0B0E" DBEBDD DA 28 AB & 8 6 Hand e EGdo0d. & &1
w8 085,55 IS 178\B HBS0% S

iy |
I -
S
T <
<y
| Z ] [
"B
Options:
Increase

| % DODOBE

Remain the same

5 o D.J“d)b WOl

Decrease
. SOBB
3 % s

Increase or decrease depending whether the semicircle bulges towards the resistance or away from it

4 v OS00 QB 696" O A’ G (i T DAED Y, 8t 5 2o

Question Number : 97 Question Id : 8135611057 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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A Camot engine takes 3 X 10° calories of heat from reservoir at 627 °C and gives it to a
sink at 27 °C. The work done by the engine 15

28 58 abodo 29550 000 3 X 10° 566w &ard) 627 °C 3¢ 08D 27 °C 3¢
63) Do BoBBoiNR. BaNd codo Jod H BRoB?

Options:
Zero

. &J"&')}So

6
, o 84X10°]

. u 32%A0%]

, % 168x10°]

Question Number : 98 Question Id : 8135611058 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. . : o : B 10 , X
The displacement y (i ¢m) in case of a simple harmonic wave 15 given by y = —sin (ZUDDHI e )

The pertod and maximum velocity of the particles in the medum will respectively be

VOV o) S cBodd ol g“égnan y= %sin (Zﬂﬂﬂnt = g) T APIOENA. €8 0rRgae’
Seaa) 3¢S0 andaty (109 driaw
Options:

» 10735, 330m.s™?

e”

, % 107*s, 20m.s™"
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3 10725, 200m.s~

4 % 10~%2s, 2000 m.s~?!

Question Number : 99 Question Id : 8135611059 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bullet of mass ‘m’ and velocity ‘v’ when fired at a sand bag of mass ‘M. suspended
by a string. gets embedded nto the bag. The loss of kinetic energy in this process 1s

m’ @303 (10 B0 ocd ‘v’ Stfod RN SEPERID ‘M G(o3rie RS
S 8 ST E Towed. & PSS (2 38 3o dod?

Options:

muv?

2

1. %

muv?
2(M+m)

Muv?
2

mMuv?

4. 2(M+m)

Question Number : 100 Question Id : 8135611060 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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A body of mass 5 kg starts from the origin with an initial velocity ' = 30 i +40 j m.s™*.
When a constant force F = —(I + 5}] N acts on the body. the time i which the y—component

of the velocity becomes zero 1

070D 0ofd 5 kg GHT3 (0 48 SR ' =30 i +40 j m.s™" Do’ w03RVE00.
oD Q6 F = ~(145]) N, 080 28 26 werd) Sanrigidisiod o o g, y-voto
w55m®5amsa Qod 5°0o DDR?

Options:
1 % 5s

20 s

2. %

4. % 80 s

Question Number : 101 Question Id : 8135611061 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. _ .
In Bohr's theory the potential of an electron at a position 1s g 3 where K 1s a constant, Then

the quantized energy of the electron in n™" orbit is

K 2
¢5°6 ?orgﬂoaané‘ 2,8 g“éan bg QTR ﬁ“&gcmé Tr 98¢ K w8 ngsan. 900

n S $5(8° g S0 3 firdorow.

Options:
nhK

L, 2Zmm
L

2.9
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nh | K

21 m
nhm

3 % 2K

nh m
4 % 27:-\} K

Question Number : 102 Question Id : 8135611062 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A circular parallel plate capacitor of radius ‘R” and spacing *d’ 1s being charged by a constant current

‘Ip’. Find the magnetic field between the plates at a distance ‘1’ from the axis. where r > R,

'd” aroad DDSaDOE, R’ TYRIAD (10 w8 ST NAT00 VOO Sratd D 8 Q0
D I’ & DI DT . &8 DOLL NG, T ko MO T APCANY” &) w8 Do
DG 0NT,08 EGA0

Options:

UolpT
21R2
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Question Number : 103 Question Id : 8135611063 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Two-pomt white dots are 2mm apart on a black paper, They are viewed by eye of pupil diameter
3 mm. What 1s the maximum distance at which these dots can be resolved by the eye? (4 = 500 nm)

28 90D hoaw §°) Tot 392 Doo)w DG CrA 2mm. 3mm T &) SOl

T P, D (183 GPoaD S &5 50) BV DomPOD VyBE) 0 Sod? (4 = 500 im)

Options:

1. % 5m
2 % 1m
3. % bm

Question Number : 104 Question Id : 8135611064 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When a 5 C charge 1s kept in a uniform electric field. a force of 5000 N acts on it. Find
the potential difference between two points in that field. separated by a distance of 1cm.

D08 IS EBIY" 5 € AATDIAN GoIY Y, &P 5000 N © ewdw
DABD0dD) 8. I0 DENS FSS” 1 em EroAne” S dofers Sotd
Dot B0g THIDES S0 dod?

Options:
1. ¢ 10V
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5 % 250V

. 1000V

4 % 2500V

Question Number : 105 Question Id : 8135611065 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A material has Poisson's ratio 0.50. If a uniform rod made of this material suffers a longitudinal
strain of 2 X 107, then the percentage change in volume is

w8 D Jrowad A3 0.50. 8 g B33 a8 660 g odd 50 2x 107

9008, DRDOAEANS’ Sre)y TS

Options:
1. % 0.6

2.v 0.4

5 % 0.2

Question Number : 106 Question Id : 8135611066 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A light container having a diatomic gas enclosed with in is moving with velocity ‘V". Mass of
the gas 15 ‘M’ and number of moles 1s ‘n’. The kinetic energy of gas w.r.t ground 1s

M @03 1’ Areoen (0 w8 BHOATIE TaVY) w8 SZD FBY’ odd wd V'
M08 Screndood. LD & T g, (B3 Zrdudn c::g,gnES
Options:

§ s
—MV* 4+ —nRT
1.% 2 2

Question Number : 107 Question Id : 8135611067 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statement 1s correct?

A. Becquerel. who discovered natural radioactivity, belongs to France
B. Marconi. who discovered wireless telegraphy, was an American
C. Newton was an American, who discovered the laws of motion

D. Einstein belongs to England. who simplifies the laws of photoelectric effects

& S08 DIVTVS” B HBADIG?

A @53 378 BodD g, Pre BEor ) $8% STy .

B. 02005" B30ED 378) 9, Ao TR SAFT)

C. eobz éé‘%}@é m5e35, (508 QODATLN smﬁ‘a"lcb

D. offoc B30 a0 232D , J'exd HhTw Argrom HEPSBeErE

Options:

1.& A

4, %

Question Number : 108 Question Id : 8135611068 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The KE. K of a body performing simple harmonic motion varies with time ‘t’. 1s indicated in graph

3087, ROV TS DD SRV w8 SR (3288 K, S0 ‘' § Toth Srdryd
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Options:

E &

1.¢ | h
K
LY - S
- -
Vo1 \
2. %
K
4
\\_,//-' t'
3. % !
Ka
1
- »
1
4, ®

Question Number : 109 Question Id : 8135611069 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two atoms of oxygen are located at 75 and 75 . Their Centre of mass is at

Ootd) 83812 DOATEVY 77 0BAIW T 96 &) o, T BT3B So@dw guaan

Options:
——- ——t
1 % "y + >
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Question Number : 110 Question Id : 8135611070 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The value of acceleration due to gravity ‘g’ 1s maxiumum at

OS] S Ges0 g’ (0T Gok Froddo

Options:
Poles

|, o TS

Centre

> % So@o

Equator
. BrE[0D
B

Surtface of earth

4 % B &DdSo
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Question Number : 111 Question Id : 8135611071 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When a heltum nucleus makes a full rotation of a circle of radius 0.8 m i 2.5 seconds. the
value of magnetic field B at the centre of the circle will be

0.8m T(o o HTTE DB0S" w8 FOabo SogiSo 2,8 QP Fevero BRVYE HYY
500 2.5 SRV, BRYW, &8 3B Sodo S e.ooﬁa&boej £d0 B Qe dodd?

Options:
| % 4mx1072 T

, u 2EX107*T
3w 4mXx10726 T

4 % 2TX107 T

Question Number : 112 Question Id : 8135611072 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A dipole 1s placed 1n a uniform electric field. its potential energy will be minimum when the
angle between 1ts axis and field 1s

D500 DS o8’ w8 BT Gomdd. T w8 Bak FT°8 o6  Srao 36
%@%% S0 BYAA?
Options:

Zero

| %\J“A‘)So
1
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Question Number : 113 Question Id : 8135611073 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The acceleration of a particle executing S H.M. 15

VOV PTG S SONAS WA GR) 25 S8 0IS) SO

Options:
Always zero

. DVIDYET BIPR[

Always constant

5 QE‘:’):‘DDC:-P %dm

Maximum at the extreme position
% i vody Do) DG (81D

Maximum at the equilibrium position
' SGa0S Dot DG ABNHW

Question Number : 114 Question Id : 8135611074 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The graph between two quantities P and Q 1s a straight line when

P 208050 @ Bot T30S 06| AR Td 28 DOV ond

Options:
PQ = Constant

e
. % PQ—gdw%

= Constant

Qlw Q|

oloRoxt]
@

PQ? = Constant

* A L
3 % PQ- = gdo"%‘
P
'Q—E-=Constant
P 5
. '@'= gdw%

Question Number : 115 Question Id : 8135611075 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A body starts from rest and moves with uniform acceleration. If the distance travelled by it m
the first 2 seconds 1s x, and in the next 2 seconds 1s x,. then x; and x are related as

w8 SR :)%')vi‘ga ot ?omésdsaog 2068 2 V0 TVING” 1y GITY), TS 2

RNER TVANEG 1, GPTPR) POITEY, X, LBAW X, ¥ 306 Dotocdaw
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Options:

1 Hx]_:xz

2 & X1 = 2X;

3 w2x1:x2

4-¢3x1 5

Question Number : 116 Question Id : 8135611076 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bullet of mass 0.01 kg travelling at a speed of 500 m. s strikes a block of mass 2 kg
which 15 suspended by a string of length 5 m. The centre of gravity of the block 1s found to r1se
a vertical distance of 0.1 m. What 15 the speed of the bullet after 1t emerges from the block?
0.01 kg G303 (10 28 woFt5, 500 m.s™ Stfed’ DaIreRr, 5m T o 28 S
SercoB0R) 2 kg G303 0 28 AR GER)B. B & By MAdEodo 0.1m
QRO 28 BB (Aomd. BN, B3 Aot WAL S\ LTE I Jod?

Options:
% 200 m.s™

, 220 m.s™

4 % 284 m.s™?
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Question Number : 117 Question Id : 8135611077 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Effect of a couple 1s

mva‘i»ﬁéo 22I°e00

Options:
Purely linear motion
| % BT 8D

Purely rotational motion

"oy QPO FHes Do

Linear and rotational motion

, x BDOD Hdako Eedab weodEw

No motion

4 % Do) VLD S°D

Question Number : 118 Question Id : 8135611078 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The electric potential at the surface of an atomic nucleus (Z = 50 ) of radius 9 X 107 m is

9X 1078 m T(FGo &) w8 wmBodso (Z = 50) &283VR DS TOJOS Dod?

Options:

% A% 108V
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4 % 8X107°V
Question Number : 119 Question Id : 8135611079 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two blocks of ice when pressed together join to form one block because

G0 S0tk B0 VR 2SS S8 ey Séb &0 89a) w8 Sy :)ojw:)é 5*0t0

Options:
Of heat produced during pressing
. S8R &De 2oLV

Of cold produced during pressing
5 % S8R BVBJ0 2oWIIVD

Melting point of ice decreases with increase of pressure

| D60 DBAD, ot SABIIT Do S

Melting point of ice increases with increase in pressure

3 & 530 DBRD, St gbz,s;sagum DA

Question Number : 120 Question Id : 8135611080 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

A block P of mass Mp 1s i contact with another block Q of mass M, as shown in the

figure. and they are placed on a smooth floor. Force on block Q 1s

Mp, My @5(07300% 883 P, 3 6010 HosS” thrddtd Dy6\&" God:, 28

RRPD B0 GodREmaw. ©and, ) 820 HIBD WOAN Jod?

Options:
Mp

- MP+MQ

MoF
Mp+Mg

2.9

Section Id :

Section Number :

F
(Mp) (Mo)

AT i i I i ddidis

Chemistry

Mandatory or Optional :

Number of Questions :

81356121
3
Mandatory

40
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Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 8135611081 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Cr(C0), find the value of x?

Cr(C0O), &° x Dend SeHAW.

Options:
1.% 4

Question Number : 122 Question Id : 8135611082 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following polymer is bio-degradable?

Sod T°e3e5° 8D )Y B0 eoaldg OO0 AA?

Options:

1. %
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Nvlon-6.6
DeD-6,6

Nvlon-2-nylon-6
ool QOPA-2- -6

Melamine polymer
2 % LD J'O2E

Question Number : 123 Question Id : 8135611083 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following compounds 1s a gem-dihalide?

$08 TS° DO B-G-FTE ?

Options:
Ethylidene chloride

o 26deS oc

Ethylene dichloride
> % 2095 a50&

Methyl chloride
L S0PS Yol
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Benzyl chloride

, w BoBS S0

Question Number : 124 Question Id : 8135611084 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Arrange Li, Be, B and C in decreasing order of their first ionization enthalpies

Li, Be, B 58080 € 080 T8 H32 0ahDesen Qoqrbj GGl ©IBPN $3008" 930

Options:
1 & Li>B>Be>C

, x« C>Li>Be>B

3‘JCZ:=B€.‘::B:=-L1'

4 % C>B>Be>Lli

Question Number : 125 Question Id : 8135611085 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ITUPAC name for the following compound 1s
RA) FR2AW aws); IUPAC o

BrCH,CH,CH = CHCH,COCHj
Options:

1. %

AP EAMCET 2020 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

1 —Bromohept—3 —en—6 —one
1 —g5' 07D —3 —&0—6 &

2 —oxo—Bromohept—4 —ene

i 2 —es8 -4 — &

7 —Bromo—2 —oxo hept—4 —one

7 —g'ar—2 —eS\ird—4 -4
3. % =

7 —Bromohept—4 —en—2 —one

7 -84 —&HI-2 —&4
4. "

Question Number : 126 Question Id : 8135611086 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among KI, FeS0O,, K;Mn0,, KMnO,4 can’t be oxidized by 057

K1, FeS0,, K,Mn0,, KMn0, 0&° 05 3 8186630050606 D6?

Options:
1.8 K1

. Feso,

3 % KzMnO_q_

e, KMnO,
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Question Number : 127 Question Id : 8135611087 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The order of screening effect among s, p, d and f orbitals of a given shell of an atom. in its
outer shell electrons is:

28 DOJTEDY S, er 3¢ g“weﬁ‘:) QTTR P 5, p, d 20800 f B ere DOGLS
E3AD $3rD) Bevdod

Options:
1@ S>p>d>f

5 ® f3d >n s
B-éépcr:dc:s:-»f

sxd>f>p>s

Question Number : 128 Question Id : 8135611088 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In which of the following options order of arrangement does not agree with the variation of
property ndicated against 1t?

S0 TOS" D §1rI8 T 99D BrdD GG AW TG IS V8D TE &I
D0e)S 50'.’05::&.

Options:

APt < Mg** < Na* < F~ (increasing ionic size)
o APt < Mg** < Na® < F~ (e0air 0855830 DAMDGS)
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B < C < 0 < N (imcreasing first ionization enthalpy)

L« B<C<0 <N (20068 sairsssn domdy dexse)

I < Br < Cl < F (increasing electron gain enthalpy)

Li < Na < K < Rb (increasing metallic radius)

i . Li < Na < K < Rb (8°& 3‘55‘2;‘11) DEAEGV)

Question Number : 129 Question Id : 8135611089 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Arrange 0,, 0,[AsF;], K0, in the increasing order of bond length of 0 — 0 bond.

0 — 0 &06 GPEB0 DOBT 0, 0, [AsFg], KO, 0k esBire 50085 @9:06y0C.

Options:
02 < KOZ < Oz[ASFB]

1.%

> % KOZ {;OZ . Oz[ASFﬁ]

3 % Oz[ASFﬁ] < HOZ < 02

4 v 0:2[4sFg] < 0, < KO,

Question Number : 130 Question Id : 8135611090 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

What will be the molality of the solution containing 18.25g of HCI gas in 500g of water?

18.25g HCl ar0500:) 5008 © 3 S0 éot oD 2erdt) dodd?

Options:
1. % 0.5m

> x 0.1m

3. ¢ 1m

4 % 0.05m

Question Number : 131 Question Id : 8135611091 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The rms velocity of Oxygen molecules at 27 °C is around 800 m/s. The rms velocity of
methane molecule at 600 K temperature 1s around

27 °C 56 e85y e tms Stfo 800 m/s. 600 K eg“gej i DES e rms o

D

Options:
1 % 400m/s

5 « 1600 m/s

3 x 800m/s

4 % 1200 m/s
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Question Number : 132 Question Id : 8135611092 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is a physical property of molecular solids?

S0BT°eS” €9E DD DT T3S (8) 0 DA?

Options:
Volatile

& &P:&D%QJQ

Quite hard

| 088 BEego

Brttle
3 % TR

Good conductor of electricity

i o) 2)&355"5:?5@

Question Number : 133 Question Id : 8135611093 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The formula of vapor state of white phosphorus 1s

2782y ?{gée‘i‘ &d) B ;‘J“r‘b;)df.:) BE), ;")‘doéer

Options:
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Question Number : 134 Question Id : 8135611094 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

1g of a solute 1s added to 18 g of water. In this aqueous solution. what 1s the mass percent
of the solute?

18 Traooe BS° 1 Traw Trddo SU D6y 20 Tded’ Tddo &P6Tdo Jod?

Options:

1 % 2%

3 % 1%

4 % 10%

Question Number : 135 Question Id : 8135611095 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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For the species HSO, and N H; their conjugative acids respectively are

AP EAMCET 2020

HSO04 2080300 NH; 05 20050, e3:55°00 60T

Options:
2— -
- 50, & NH,
2_. —
> % 50, & NH,

H,S0, & NH.
TR ¢

_ H,S0, & NH,

4, %

Question Number : 136 Question Id : 8135611096 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of among the followimg is an example for fibre?

S0d T°83¢5° ' HOL &I D&?

Options:
Polyester
- &9 06

Urea-formaldehyde resin
adoordoir — &véggé B

2. %

Polyvinyl chloride

5§ > DS §8&
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Neoprene
4 % DAFDD

Question Number : 137 Question Id : 8135611097 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Gaseous state 15 characterized by which of the following physical properties?
[. Gases mix evenly and completely on all proportions without any mechanical aid
II. Gases exert pressure on all directions evenly
I Gases are lughly compressible and have lower density than liquids and solids

IV. The volume and shape of the gas 1s fixed

Tabo 28 806 D '8 GO 08 D E020)3008?

[ Dtoth aireds HEANM DiFodn Ser Tahuden o) Ayduws” 0o,

L Traboden o) S36'r w8 oéTd) s9Adaw

I Trosnhen ©B8 Ronk(d M eEran 2000k 203, @3 HITVSS 88y Fodd
9 &obtron

IV. Trodnge fgdmwé ¥sTY), fméb&&rwals% TTARON

Options:
, x LIILIV
, % ILTIL IV

3 o LILTI

i x B
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Question Number : 138 Question Id : 8135611098 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following 1s a possible product during cross aldol condensation between
propanal (as electrophile) and butanal (as nucleophile)?

ToTd (aeg 2O 1) 208050 LTS (ArBaIrps ) © 06| DI BTS VoY
w6[ 2008, 0BT AOYELTAS BITHAND) ES\D) A IB?
Options:

3-hydroxy-2-methyl hexanal

3-7684-2-BS G\

2-ethyl-3-hydroxy pentanal

- 2- 5353758 DobITS

3-hydroxy-2-methyl pentanal

| 3-7684-2-088 DTS

2-ethyl-3-hydroxy hexanal

2- 5353758 TETS

Question Number : 139 Question Id : 8135611099 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The increasing order of densities of the following alkyl halides is
$od &0) & POE © JroGS DBH S20HW

1. n-C3H;Br
11. ' CSH?CI
111. n- CgH?I

Options:

- (ii)) < (i) < (iii)
, w (i) < () < (i)
5 » () < (i) < (i)
4w (i) < () < (@)
Question Number : 140 Question Id : 8135611100 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The mass of one mole of a substance in grams 1s called

oA’ w8 A DTG BT £9083°G0

Options:
Atomic mass
, DO BT

Mole number

ared }’OGQJ?S
2. %
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Molar mass

Qb GO0
3.

Mass number

n @:.')50"%’ oy

Question Number : 141 Question Id : 8135611101 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Compound which 1s added to soap to impart antiseptic properties 1s

‘r’{:mas) oirué)‘bigé qSU“éw EDRoTLLL) SODSVHD "ro&)y?m 0?

Options:
Sodium lauryl sulphate
dano &S PSS

1. %

Sodium dodecylbenzene sulphonate

- Jcodo EETS B0 2SI
2. % ~

Rosin

3 % 02

Bithionol

 DBODIS
4.9 =

Question Number : 142 Question Id : 8135611102 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Calculate the mass of a photon if its wave length 1s given as 0.35 nm.

0.35 nim © BB 0 &) 2.8 Ferd @30°3D fiedotdod.

Options:
. B2 kg
1. %

L 630107 g
1n—33
, ,630x10% kg

4 % 1892Xx107% kg

Question Number : 143 Question Id : 8135611103 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the equilibrium constant of the reaction Cus) + 2 Ag J(’aq) = C uz{:;q ) T 249(s).

given that for the reaction. E,,;; = 0.46V.

Cllay) +2 AG () = CUlze) T 2A0(c0) SO Ecey = 0.46V 00208, & 56§ DTS
fatros*.’.}l figdotdot.
Q

Options:
. % 42 x10°

, » 6.23 % 10’

1015
3 3.92 X 10
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20
4 % 454 X 10

Question Number : 144 Question Id : 8135611104 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A chemical A 15 used for the preparation of washing soda to recover ammonia. When €0, 1s
bubbled through an aqueous solution of A, the solution turns mulky. It 1s used m white washing
due to disinfectant nature. What 1s the chemical formula of A?

T0f Tee S03r6e” ey Jakrad 86h Jodowd ‘A’ 8l 6Ty EHArATE. A
AI0E), 2808 VS (0, Q Hod Erdrsn BUT FuSe ArdR. ER0FEE S8
SR AN W) AW I TEEd. A 03»53,63"05335 ;}’cb&ar D0?

Options:
1 % CG(HCOg)Z

2 % CaO

4 % €aCo;

Question Number : 145 Question Id : 8135611105 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

To avoid bends sickness. the tanks used by scuba divers are filled with air and diluted with

Bofsy ETBTTY) D)ottt A&7 &S0y Erovs’ mhd & Do B
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Options:
Helium gas

. v dabo TaY

Argon gas

- BT TN

Krypton gas
3 % 5,2"5 ST°O50Y)
Xenon gas

AT TP030)

4, % @

Question Number : 146 Question Id : 8135611106 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

K, for CaS0y is 9 X 107°. The minimum volume of water needed to dissolve 1g of CaS0,

at 298 K temperature 1s

CaS0,  Kyp 9 X 1078 eand, 298 K 630 36 1 1 Cas0, 2 $8Rowseds $ed

S99 D €D LdHBATN0

Options:

5 % 4.25L
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42451

Question Number : 147 Question Id : 8135611107 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Glycosidic linkage in carbohydrates is called

58 ITES 08 (0 AERAS LTV €908°C0

Options:
Ester linkage

R0 2o
‘]_%w‘a e

Ether linkage

Hydrogen bonding

TEBS 06H0

Amide linkage

4 % VROC 0D

Question Number : 148 Question Id : 8135611108 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The correct order of increasing ionic character among LiH, NaH, KH, RbH, CsH is

LiH, NaH, KH, RbH, CsH ©&° eairds DGEPHA0 2B DBWOD §A77D) B,

AP EAMCET 2020 _
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_— LiH < NaH < CsH < KH < RbH

o, LiH < NaH < KH < RbH < CsH

” RbH < CsH < NaH < KH < LiH

« NaH < CsH < RbH < LiH < KH

Question Number : 149 Question Id : 8135611109 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Analysis shows that nickel oxide has the formula Nig ¢50; oo. The fractions of Ni** and Ni3*

1ons in the crystal are

w8 DFS" N3G FyE Y& Niggg0; g9 T BINDG. y8808" Ni®*, Ni** eoasiribow

eD:rlw ™ G0t
Options:
- Ni?t =989% & Ni3t =2 %

, « Ni**=2% & Ni** =98%

3 ® Ni**=4% & Ni** =96%

s Ni**=6% & Ni**=4%

Question Number : 150 Question Id : 8135611110 Question Type : MCQ Display Question

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following models states that “In an atom. the positive charge 1s uniformly

distributed and electrons are embedded mto 1t™?

& 808 D AArTUS” DOAFPS’ GTHIA0 FRIJT Docserct o’ S &

T Gotran” 0 IabiTe?

Options:
Bohr's atomic model
E'6 HOATED DA

1. %

Thomson’s atomic model

5> o BP0 DGATLL DT T°

Rutherford’s atomic model

. dresd 6 DOITEDL dJrT

Sommerfeld’s atomic model
4 x D06 DS DOJTED DD

Question Number : 151 Question Id : 8135611111 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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. d|C,H .
Decomposition of ethane L = k[C,H;] proceeds through a complex mechanism.
ey kikaks
which includes 5 steps. The overall rate constant(k) can be expressed as k = - where
2K

kq,ky, ks, ky, ke are the rate constants of the 5 steps.

If the activation energies of each of the steps respectively are E; = 1E, E, = 2E, E; = 3E,
E, = 4E, E; = 5E . where E = 20 kJ/mol. Then find the overall activation energy of the

decomposition.

d[CoHg)
dt

B Dok 6 = k[C,Hg] R088 D6308", 5 eotswes” Ftbdood. ky, ky, ks,

kg ks 00 5 & oo ds), B6{LS Gt fgo"os*w O, DB ke B0

kikoks
koks

00 vors gy 6du $ £y = 1E, E, = 2E, E; =3E, E,=4E, E;=5E a8 & E =

ot k =

20 kT/mol 008, 30850 Jaird Bo[ aws) &82S 38 Jod?

Options:
1 667 kJ/mol

> % 3.33 kl/mol

3 % 20 kJ/mol

4 % 10 kJ/mol

Question Number : 152 Question Id : 8135611112 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Me3SiCl 1s used during polymerization of organo silicones because

58S DS v TDBS6eBNS” Me;SiCl TR ST6edw

Options:
The chain length of organo silicone polymers can be controlled by adding Me;SiCl

b Me3SiCl 3eiadoc S0 6388 HBE v TG Sjomwdn Te JoboGowseidy

Me;SiCl improves the quality of the silicone polymer

. 8 MeySiCl 295D Ird6 CI0E), LB REAMDDETLA

Me;SiCl improves the yield of the silicone polymer

5 % MesSiClDBES FD06 cins), BRI 0EMDENI

Me,;SiCl acts as a catalyst during polymerization

s« MesSicl T OI0BEGEANS" SBHESIOMT HIBCKVD

Question Number : 153 Question Id : 8135611113 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The molecular geometry of PFj3 1s

PF3 0980 (030D 653 96?

Options:
Tetrahedral

, BS0E) oo
1. %

Pyramidal

5> W?SS‘GO
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Trigonal planar

5 S8t DS

Square planar

4 % DEOR DA0SVo

Question Number : 154 Question Id : 8135611114 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The correct representation of Nucleotide 1s:

Ar(SAOBE alng), HBELA o7 B30 BuE. (SoBTAS" * Base * 0™ * F60 )

Options:
o
O=P“—‘()—”L O Base
()F ‘ H H
H ; ;, OH
- OH OFl
1 %
o
|
== [l’ — () — H:C o H
0 HH
H / ; Base
OH OH
2. ¥
2

AP EAMCET 2020 )
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

O
O=p O H-C o Base
| g ?‘
0 H B
H H
OH OH

’ Q
HH
HO | , O
OH OH

Question Number : 155 Question Id : 8135611115 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following compounds will give butanone on oxidation with alkaline KMn0, solution?

6 KMn0, gde08 8576008 & So0T86" D 2 ¢diw arhSS @ wi\d?

Options:
Butan-1-ol only

e(E0-1-86 S
1. %

Butan-2-ol only

5 o mseﬁé-z-&é bl Fo b

Butan-1-ol and Butan-2-ol

” w,SeSE) -1-5,85 Hdadw wseﬁé-z-zqé
3.
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None of the options are correct

4 % @ BT DOAIG 57

Question Number : 156 Question Id : 8135611116 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following doesn’t undergo hydrolysis?

Sod T7¢" B 20 DN BoBED?

Options:

fiond CCly

» u Sl

2 u Tl

Question Number : 157 Question Id : 8135611117 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the molanity of the 5 molal urea solution. whose density 1s 1.3 g/ml (ziven. molecular

weight of urea 1s 60.06 g/mol)

5 Arere 0rai® [P Fro@d 0050 erErdan SR 1.3 g/ml Sobakw
60.06 g/mol o, - Arerdd) Hedoold.

Options:
>5M

1. 8
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3‘;.;‘515M

Can’t be predicted
4 % SROFDTI0

Question Number : 158 Question Id : 8135611118 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Ozonolysis of an organic compound 'A’ produces acetone and propanal 1n equimolar mixture.

Identify 'A' from the following compound.

D FRA0 A’ ) L8 TORD BAbT DD B FHTS © A Arerd FHAD
D01CA. ©a, Sob T8 dootd ‘A’ & dBotdod.

Options:
1- pentene

;% 1- 0083

2- methyl -1- pentene
5 % 2= FS -1- DoBD

2- methyl -2- pentene

3 o 27 PES -2- Do

2- pentene

4 % 2- Do83S
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Question Number : 159 Question Id : 8135611119 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A solution containing 4.5 mM of Mn0, and 15 mM of Mn®*shows pH of 2. The potential
of half-cell reaction 1s

Given log 15 = 1.76 & log45 = 1.653 & (standard potential of Mn0; — Mn** 1s 1.51V)

28 Tra0ane” 4.5 mM Mn0; 08080 15 mM Mn** 0A &oc., & pH = 2 1 &od.
€8 €96 000 e, JOS
Serosdn: log15 = 1.76 & log45 = 1.653

Mn0g — Mn** ohog) e TOJ0S = 1.51V

Options:
1 % 151V

4 % 1.04V

Question Number : 160 Question Id : 8135611120 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following can form intermolecular H-bond?

808 T°0S° ot EWE PERD LTV LN I~To T RR0) FIH

Options:

1. %
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Ethyl acetate
QRO DDES

Methyl formate

0T T5) 5"6&&5
i S

Acetamide
), DG

Acetic anhydride
DS S Gl
4. % =S
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